
FABbot E9X 7/8” Wilwood Clutch Master Cylinder 

Kit – Installation Instructions 
 

1. Remove the pedal assembly from the vehicle.                                     

 
 

2. Remove the master cylinder pivot pin from the pedal  

                                  

3. Remove the (2) M6 bolts from the master cylinder that hold the master cylinder to the pedal 

assembly mount. Make sure to keep the (2) M6 nuts! 

                           

  



4. Using a file or sanding disc, sand down the raised portion of the forward most master cylinder 

mounting boss. Do not sand too much! You only want to remove the raised outer ring, and make 

the mounting boss flat. 

                                                               

5. Install the spacer into the master cylinder mounting bracket. 

                                              

6. Using the (2) supplied M6 socket head screw, and the (2) M6 nut removed during step 3, attach the 

new master cylinder to the pedal assembly. 

                 



7. Place (4) of the 8mm washers on the M8 bolt. 

 
 

8. Insert the M8 bolt with the (4) 8mm washers through the hole in the left side of the clutch pedal, 

through the clutch master cylinder rod end, and out the right side of the clutch pedal. Place the 

other (4) 8mm washers and M8 nut on the bolt. 

                                                                         

9. Tighten the nut slightly! Do not over tighten this nut. It only needs to be snugged up to the 

washers! 

 

  



10. Put the new hose on the master cylinder, reinstall the pedal assembly, and bleed the system. 

 

  



     


